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1. Which of the following is not the problem of Indian agriculture? 

(i) Low productivity 

(ii) Small size holding 

(iii) Defective land tenure system 

(iv) Adequate supply of capital 

 

2. Which of the following is not the cause of low productivity in Indian agriculture? 

(i) General factor 

(ii) Political factor 

(iii) Institutional factor 

(iv) Technological factor 

 

3. Which one of the following is not included in tenancy reforms? 

(i) Regulation of rent 

(ii) Security of tenants 

(iii) Co-operative farming 

(iv) Rights of ownership for tenants 

 

4. Which one of the following is not the institutional source of rural credit in India? 

(i) Landlords 

(ii) Government 

(iii) Co-operative society 

(iv) Commercial bank 

 

5. When agricultural holdings are gradually divided into different plots among the owner then it 

is called 

(i) Subdivision 

(ii) Scrutiny of tenants 

(iii) Regulation of rent 

(iv) Ceiling on land holding 

 

6. Which one of the following industries is not required licensing system compulsory at present? 

(i) Alcohol 

(ii) Industrial explosives 

(iii) Cigarettes 

(iv) Railway transport 

 

 



7. Which of the following is not the external cause of industrial sickness of India? 

(i) Power crisis 

(ii) Labour disputes 

(iii) Government policy 

(iv) Irregular supply of raw materials and other inputs 

 

8. India was the _____ largest exporter of commercial services in the world in 2016 

(i) 5th 

(ii) 6th 

(iii) 7th 

(iv) 8th 

 

9. Structural adjustment programmes and economic reforms of India launched in 

(i) July 2008 

(ii) July 1991 

(iii) July 1947 

(iv) July 1956 

 

10. According to British economist Angus Maddison, India's GDP share of the world 

economy was _____ in 1950 

(i) 3.5% 

(ii) 4.2% 

(iii) 4.8% 

(iv) 9% 

 

11. Under British rule, India experienced  

(i) Industrialization 

(ii) deindustrialization 

(iii) Both i & ii 

(iv) None of these  

 

12. British investors built a modern railway system in  

(i) late 18th century 

(ii) early 19th century 

(iii) late 19th century 

(iv) none of these 

 

 

 

 

 

 

 

https://en.wikipedia.org/wiki/Angus_Maddison
https://en.wikipedia.org/wiki/World_economy
https://en.wikipedia.org/wiki/World_economy
https://en.wikipedia.org/wiki/Deindustrialization


   যে য োন ো দশটি প্রনের উত্তর দোও                                                                         ১× ১০  

১. ন ম্ননিনিতগুনির মনযে য ো টি ভোরতীয়  ৃনির সমসেো  য় 

( ) স্বল্প উত্পোদ শীিতো                                        (ি) য োি আ োনরর য োল্ডিং 

(গ) তূ্রটিেুক্ত জনমর যময়োদ ব্েব্স্থো                            (ঘ) মূিযন র পে যোপ্ত সরব্রো  

 

২. ন নের য ো টি ভোরতীয়  ৃনিনত  ম উত্পোদ শীিতোর  োরণ  য়? 

( ) সোযোরণ ফ্েোক্টর                                                (ি) রোজন নত  ফ্েোক্টর 

(গ) প্রনতষ্ঠোন   ফ্েোক্টর                                           (ঘ) প্রেলু্ক্তগত ফ্েোক্টর 

 

৩. ন ম্ননিনিত য ো টি প্রজোস্বত্ব সিংস্কোনরর (tenancy reforms) অন্তভভ যক্ত  য়? 

( ) ভোডো ন য়ন্ত্রণ                                                   (ি) ভোডোনিনদর সুরক্ষো 

(গ) সমব্োয় েোি                                                      (ঘ) ভোডোনিনদর মোনি ো োর অনয োর 

 

৪. ন নের য ো টি ভোরনত গ্রোমীণ ঋনণর প্রোনতষ্ঠোন   উত্স  য়? 

( ) জনমর মোনি   (ি) সর োর   (গ) সমব্োয় সনমনত     (ঘ) ব্োনণল্জে  ব্েোিং  

 

৫.  ৃনিনক্ষত্র েি  ক্রমোগত ভোনব্  মোনিন র মনযে নব্নভন্ন প্লনি নব্ভক্ত  য় তি  তোন  ব্িো  য় 

( ) পু নব্ যভোজ   (ি) ভোডোনিনদর েোেোই ব্ো োই  (গ) ভোডো ন য়ন্ত্রণ (ঘ) জনম অনযগ্র নণর সনব্ যোচ্চ সীমো 

 

৬. ন ম্ননিনিত য ো  নশনল্পর জ ে ব্তযমোন  িোইনসল্সিং ব্োযেতোমূি  প্রনয়োজ  য ই? 

( ) অেোিন ো ি  (ি) নশল্প নব্নফোর    (গ) নসগোনরি     (ঘ) যরিপথ পনরব্   

 

৭. ন নের য ো টি ভোরনতর নশল্প অসুস্থতোর ব্োন ে   োরণ  য়? 

( ) নব্দুেৎ সিং ি  (ি) শ্রনমর নব্নরোয     (গ) সর োরী  ীনত 

(ঘ)  োাঁেোমোি এব্িং অ েো ে ই পিুগুনির অন য়নমত সরব্রো  

 



৮. 2016 সোনি ভোরত নব্নের ব্ৃ ত্তম ব্োনণল্জে  রফ্তোন  োর  যদশ এর তোনি োভভক্ত ন ি 

( ) ৫ তম        (ি)৬ ষ্ঠ           (গ) ৭ ম          (ঘ) ৮ম 

 

৯.  োঠোনমোগত সমন্বয়  ম যসূনে এব্িং ভোরনতর অথ যন নত  সিংস্কোর েোিু  য় 

( ) জিুোই ২০০৮   (ি) জিুোই ১৯৯১    (গ) জিুোই ১৯৪৭       (ঘ) জিুোই ১৯৫৬ 

 

১০. নিটিশ অথ য ীনতনব্দ অেোঙ্গোস মেোনিসন র মনত, ১৯৫০ সোনি নব্ে অথ য ীনতনত ভোরনতর GDP 

অিংশ ন ি  

( ) ৩.৫%      (ি) ৪.২%     (গ) ৪.৮%        (ঘ) ৯% 

 

১১. নিটিশ শোসন র অযীন  ভোরত অনভজ্ঞতো অজয   নরন ি 

( ) নশল্পোয়                                                           (ি) নি িোস্ট্রোিোইনজশ  

(গ)   এব্িং ি উভয়ই                                             (ঘ) এগুনির য ো ওটিই  য় 

 

১২. নিটিশ নব্ন নয়োগ োরীরো এ টি আযনু   যরিপথ ব্েব্স্থো ততনর  নরন ি 

( ) 18 শতোব্দীর যশনির নদন                                (ি) 19 শতন র যগোডোর নদন  

(গ) 19 শতন র যশিনদন                                      (ঘ) এগুনির য ো ওটিই  য় 


